



St. Louis County, Minnesota

Date of Report: 12/16/2025 10:46:05 PM

**General Details** 

 Parcel ID:
 415-0010-02300

 Document:
 Torrens - 800294

 Document Date:
 06/21/2005

**Legal Description Details** 

Plat Name: LAKEWOOD

Section Township Range Lot Block

9 51 13

**Description:** SE 1/4 OF NE 1/4 EXCEPT S 1/2 OF S 1/2 OF SE 1/4 OF NE 1/4

**Taxpayer Details** 

Taxpayer NameCARLSON DOLORES Mand Address:5627 LESTER RIVER RDDULUTH MN 55804

Owner Details

Owner Name CARLSON DOLORES M

Payable 2025 Tax Summary

2025 - Net Tax \$4,291.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$4,320.00

**Current Tax Due (as of 12/15/2025)** 

Due May 15		Due October 15		Total Due	
2025 - 1st Half Tax	\$2,160.00	2025 - 2nd Half Tax	\$2,160.00	2025 - 1st Half Tax Due	\$0.00
2025 - 1st Half Tax Paid	\$2,160.00	2025 - 2nd Half Tax Paid	\$2,160.00	2025 - 2nd Half Tax Due	\$0.00
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00

**Parcel Details** 

Property Address: 5627 LESTER RIVER RD, DULUTH MN

School District: 709
Tax Increment District: -

Property/Homesteader: CARLSON, JOHN B & DOLORES M

		Assessme	nt Details (20	)25 Payable 2	2026)		
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
201	1 - Owner Homestead (100.00% total)	\$105,600	\$258,900	\$364,500	\$0	\$0	-
111	0 - Non Homestead	\$38,700	\$0	\$38,700	\$0	\$0	-
	Total:	\$144,300	\$258,900	\$403,200	\$0	\$0	3895





St. Louis County, Minnesota

Date of Report: 12/16/2025 10:46:05 PM

**Land Details** 

Deeded Acres: 30.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

M - MOUND Sewer Code & Desc:

Lot Width: 0.00 Lot Depth: 0.00

	Im	provem	ent 1 Deta	ails (RESIDEN	CE)	
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
HOUSE	1972	1,19	94	1,739	AVG Quality / 810 Ft <sup>2</sup>	1S+ - 1+ STORY
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	0	0	42	CANTILEV	ER
BAS	1	6	12	72	CANTILEVER	
BAS	1	18	17	306	BASEMENT WITH EXTERIOR ENTRANCE	
BAS	1.2	18	17	306	BASEMENT WITH EXTER	RIOR ENTRANCE
BAS	2	13	36	468	BASEMENT WITH EXTER	RIOR ENTRANCE
CW	1	15	20	300	POST ON GR	OUND
DK	1	8	18	144	POST ON GR	OUND
Bath Count	Bedroom Count	:	Room C	Count	Fireplace Count	HVAC
2.5 BATHS	3 BEDROOMS		-		-	CENTRAL, FUEL OIL
	In	nprovem	ent 2 Det	ails (DETACHE	ED)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
GARAGE	1972	67	2	672	-	DETACHED
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	24	28	672	FLOATING S	SLAB
		Improve	ment 3 D	etails (SAUNA	<b>\</b>	
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
SAUNA	0	35	7	357	-	-
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	17	21	357	FLOATING S	SLAB
		Improv	vement 4	Details (RED)		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
STORAGE BUILDING	1972	96	6	96	<del>-</del>	- -
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	8	12	96	POST ON GR	OUND
		Impro	vement 5	Details (LT)		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
STORAGE BUILDING	1959	31	2	312	-	-
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	26	12	312	POST ON GR	OLIND





St. Louis County, Minnesota

Date of Report: 12/16/2025 10:46:05 PM

		iniprove	ment 6 Details	(FABRIC)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> B	asement Finish	Style C	ode & Desc.
STORAGE BUILDING	G 2009	38	8	388	-		-
Segment	t Story	Width	Length	Area	Founda	tion	
BAS	1	10	10	100	POST ON G	ROUND	
BAS	1	12	24	288	POST ON GROUND		
		Improveme	nt 7 Details (P	LYWOOD ST)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> B	asement Finish	Style C	ode & Desc
STORAGE BUILDING	G 1959	25	6	256	-		-
Segment	t Story	Width	Length	Area	Founda	tion	
BAS	1	16	16	256	POST ON G	ROUND	
		Improve	ment 8 Details	(OSB ST)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> B	asement Finish	Style C	ode & Desc
STORAGE BUILDING	G 1969	80	)	80	-		-
Segment	t Story	Width	Length	Area	Founda	tion	
BAS	1	8	10 80		POST ON G	ROUND	
No Sales informati	on reported						
No Sales informati	on reported.	As	ssessment His	tory			
No Sales informati  Year	on reported.  Class Code (Legend)	As Land EMV	ssessment His Bldg EMV	tory Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
	Class Code	Land	Bldg	Total	Land	Bldg	
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Capacity
Year	Class Code (Legend)	<b>Land EMV</b> \$105,600	Bldg EMV \$254,600	Total EMV \$360,200	Land EMV \$0	Bldg EMV \$0	Capacit
Year	Class Code (Legend) 201 111	Land EMV \$105,600 \$38,700	Bldg EMV \$254,600 \$0	Total EMV \$360,200 \$38,700	Land EMV \$0 \$0	Bldg EMV \$0 \$0	Capacit
Year 2024 Payable 2025	Class Code (Legend) 201 111 Total	Land EMV \$105,600 \$38,700 \$144,300	Bldg EMV \$254,600 \$0 \$254,600	Total EMV \$360,200 \$38,700 \$398,900	\$0 \$0 \$0	## Bidg   EMV   \$0   \$0   \$0   \$0   \$0   \$0   \$0   \$	Capacit
Year 2024 Payable 2025	Class Code (Legend) 201 111 Total	Land EMV \$105,600 \$38,700 \$144,300 \$105,600	\$1dg EMV \$254,600 \$0 \$254,600 \$252,700	Total EMV \$360,200 \$38,700 \$398,900 \$358,300	\$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0	3,848.00
Year 2024 Payable 2025	Class Code (Legend)  201  111  Total  201  111	Land EMV \$105,600 \$38,700 \$144,300 \$105,600 \$38,700	\$10dg EMV \$254,600 \$0 \$254,600 \$252,700 \$0	Total EMV \$360,200 \$38,700 \$398,900 \$358,300 \$38,700	\$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0	3,848.00
Year 2024 Payable 2025 2023 Payable 2024	Class Code (Legend) 201 111 Total 201 111 Total	Land EMV \$105,600 \$38,700 \$144,300 \$105,600 \$38,700 \$144,300	\$1dg EMV \$254,600 \$0 \$254,600 \$252,700 \$0 \$252,700	Total EMV \$360,200 \$38,700 \$398,900 \$358,300 \$38,700 \$397,000	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0	3,848.00
Year 2024 Payable 2025 2023 Payable 2024	Class Code (Legend)  201  111  Total  201  111  Total  201  201	Land EMV \$105,600 \$38,700 \$144,300 \$105,600 \$38,700 \$144,300 \$100,800	\$1dg EMV \$254,600 \$0 \$254,600 \$252,700 \$0 \$252,700 \$252,700	Total EMV \$360,200 \$38,700 \$398,900 \$358,300 \$38,700 \$397,000 \$353,500	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	3,848.00 - - 3,920.00
Year 2024 Payable 2025 2023 Payable 2024	Class Code (Legend)  201 111  Total  201 111  Total  201 111  111	Land EMV \$105,600 \$38,700 \$144,300 \$105,600 \$38,700 \$144,300 \$100,800 \$36,800	\$10dg EMV \$254,600 \$0 \$254,600 \$0 \$252,700 \$0 \$252,700 \$0 \$252,700 \$0	Total EMV \$360,200 \$38,700 \$398,900 \$358,300 \$38,700 \$397,000 \$353,500 \$36,800	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	3,848.00 - - 3,920.00
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Class Code (Legend)  201  111  Total  201  111  Total  201  111  Total  Total	Land EMV \$105,600 \$38,700 \$144,300 \$105,600 \$38,700 \$144,300 \$100,800 \$36,800 \$137,600	\$1dg EMV \$254,600 \$0 \$254,600 \$0 \$252,700 \$0 \$252,700 \$0 \$252,700 \$0 \$252,700	Total EMV \$360,200 \$38,700 \$398,900 \$358,300 \$358,700 \$397,000 \$353,500 \$36,800 \$390,300	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	3,848.00 - - 3,920.00 - - 3,849.00
	Class Code (Legend)  201  111  Total  201  111  Total  201  111  Total  201  111  Total	Land EMV \$105,600 \$38,700 \$144,300 \$105,600 \$38,700 \$144,300 \$100,800 \$36,800 \$137,600 \$61,400	\$1dg EMV \$254,600 \$0 \$254,600 \$252,700 \$0 \$252,700 \$0 \$252,700 \$0 \$252,700 \$0 \$214,900	Total EMV \$360,200 \$38,700 \$398,900 \$358,300 \$397,000 \$353,500 \$36,800 \$390,300 \$276,300	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Class Code (Legend)  201  111  Total  201  111  Total  201  111  Total  201  111  Total	Land EMV \$105,600 \$38,700 \$144,300 \$105,600 \$38,700 \$144,300 \$100,800 \$36,800 \$137,600 \$61,400 \$50,800 \$112,200	Bldg EMV \$254,600 \$0 \$254,600 \$252,700 \$0 \$252,700 \$0 \$252,700 \$0 \$214,900 \$0	Total EMV \$360,200 \$38,700 \$398,900 \$358,300 \$38,700 \$397,000 \$353,500 \$36,800 \$3276,300 \$50,800 \$327,100	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	3,848.00 - 3,920.00 - - 3,849.00

2024

2023

2022

\$4,287.00

\$4,477.00

\$4,049.00

\$25.00

\$25.00

\$25.00

\$4,312.00

\$4,502.00

\$4,074.00

\$142,828

\$136,053

\$109,450

\$249,179

\$248,822

\$205,277

\$392,007

\$384,875

\$314,727





St. Louis County, Minnesota

Date of Report: 12/16/2025 10:46:05 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.